ttParticle in a magnetic field
The Hamiltonian [or a particle ol charge ¢, mass myg. i a constant magnetic hield B =
(0.0, 1) is (approximately |
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(a) The eigenvalues of which ol the lollowimg are good quanium mumbers: L7, L. L,
1.7

(b} Show (using the Ehrenlest Theorem result from MT) that the expectation values of
[.. L, and L. ma general state
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(¢] The magnelit operalor pis delimed by g = L.
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that (1) the length of the vector {¢|pe]er) is constant in time, and-Hie e -B-=

—osstriinbme. Hence show that (o |,u,|e | PTeCesses .-nmmf] the f]ll(‘(il(ﬂf of B with
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